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>7/<2 15 >7/<2 20 >7/<2 34 >7 </2 40 >7/<2

 P1   m2 293 514 1 009 860

 P2   m2 326 575 1 015 821

 Verticale (A)  m2 490 703 1 165 1 161

 Verticale B/C  m2 580 703 1 165 1 161

 P46  m2 388 659 1 110 845
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>7/<2 15 >7/<2 20 >7/<2 34 >7 </2 40 >7/<2

 PB155   m2 309 739 1 030 1 098

 P2P   m2 369 613 1 032 904

 DVR   m2 444 827 1 139 1 209

 PP64   m2 430 690 1 097 1 100

 PP82   m2 488 843 1 172 1 264
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>7/<2 15 >7/<2 20 >7/<2 34 >7 </2 40 >7/<2

 PP102   m2 487 858 1 284 1 298

 PP82 MIX   m2 481 843 1 172 1 264

 PP302   m2 408 911 1 206 1 351

 PP82 Pino   m2 635 1 096 1 480 1 643

 PP82 Noce   m2 635 1 096 1 480 1 643
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>7/<2 15 >7/<2 20 >7/<2 34 >7 </2 40 >7/<2

 PP82 Colore   m2 586 1 096 1 480 1 643

 PS004  m2 291 649 1 025 1 115

 PB01   m2 408 820 1 131 1 172

 WPC/Thermo   m2 319 954 1 070 1 190
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 2D   m2 53 542 980 693
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>D5?564)
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 %F>?5 EQ / AUT  LF.  / 1 665 / /
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 1 <5FD  
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107 / / /
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